Sy IAKF AR S TES 1 TEE S RT Ok A
W

i

REAP T ORRIEKE 0 A (5) kAR G f

&R R o FA400E% 138 0 TEEXF AT K
E R s (53 )7J< EFR B TR L AF 8RS
5.6 F U b 2,000 F AT E 4 Fl Uil o B

RN a#%‘-:’z}%@é‘q:'f%"%ﬁﬁ_""‘ﬁ’?5'€—,’€!T$li“f%
5V ®

\p"

S
ES
e
TE
W
=
-
é:\f\;,
Ei’
H
oy
N
o)
.=
%\r\{t
fs_kq
=
(ba
e
|~

%‘%}W&é %;1(%2“ 238) e | o {7 H PEIR H%L@%’i 291 TE
N F R TORE AR EAY S }\/f@ﬁ—’_;% KRR ST &

HoRFmE A Uk d— o, 0 KAEEH E LaoT
i?%m T J\’]‘ﬂ_?\-ﬁy.‘\“ B

BB A swE ¥ 4z g g 30
tg23 ¥ 100

x i:é—ii); KERFieR SEERAFNEAE 20 TEF 4
PR FSERG RTIIR AL 2k IR
PR AR 18EY 1R BEME

¥ I NPE:

BT SR —’%Efﬁtﬂa&\*-"L’ri%%f?"z%g’%i%/%@%ﬁﬁa?

4 o I E}q—, l'+ . gIJ || ITT _ ,-_L IT%\'.I %J%’.%E)i’élg 2\;\4
~

RAAT DB R = A Bl A i ) 0 AR
BRI HAT A

# [ ¥+ 125 /4
i)
A~ Bh A Q <50CMD 1




PorcigfEz b | B ERTE | BB A RE 2
B B (C)(r1dg | 2 Hip] Ekimok
kR | R )R K
EE R [ BETE
3ok F |1B=C2<28
P SRR

S

SRR fAZKER 2 Az i wnl 0.6
M iEF AR R iE A e (N=1) S 2h% X0.2N
P AR E | A M S R e g 28

¥ ) | 2 P B

K

ke

R 2h B

hpt R Ay -0.3

B S 31.3

Fa > b Hic 30,000

514 4373~ 31.3x30000=939,000




